A Bl
dx: FNEs=s4
el AR A 2OEDY (9 E s

S B HRAEH) - MRAY - B 0 &t o4 p[EE {InE=FT
= 4,009,554 4,009,554 0
d2st=s4d 3,747,424 3,747,424 0
XA 2 EHOY 1,530,023 1,600,023 A70,000
ESDNESE- PSP = gl | 1,095,573 1,165,573 A70,000
401 AlEHIL204bI 252,000 322,000 A70,000
04 Al&Hl 252,000 322,000 A70,000
O EXNEAEHE +=(XS) &AL HIOFAL(RI1HE) 2 & 10,000,000& 10,000 30,000 A20,000
O EXNEAIHY 22 (MH2, 2I|1HAH) 0 50,000 50,000
Flgsa 29 823,560 753,560 70,000
A2 HAHE L OIOEHEE 823,560 753,560 70,000
401 Al&HI LSO 594,000 524,000 70,000
04 Al&HI 594,000 524,000 70,000
O =& 28 Al el22d 2 & 470,000,000 470,000 400,000 70,000
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